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Q.1Selecttheoptionfigureinwhichthegivenfigureisembeddedasitspart(rotationis NOT
allowed).
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QuestionID:264330117425
Option11D:264330461742
Option21D:264330461744
Option3ID:264330461743
Option41D:264330461741
Status:Answered
ChosenOption: 2




Q.2 If the given sheet is folded to form a cube, which of the following figures is possible?

¢

QuestionID:26433059911
Option11D:264330234478
Option21D:264330234479
Option31D:264330234476
Option41D:264330234477

Status:Answered
ChosenOption: 2




Whichletter-clusterwillreplacethequestionmark(?)tocompletethegivenseries? AXFN,
GCJQ, MHNT, ?, YRVZ

Ans  X1.SWMR
& 2. QRLV
& 3. RLQV
o 4. SMRW

QuestionlD:26433076666
Option11D:264330300729
Option21D:264330300728
Option31D:264330300730
Option41D:264330300731

Status:Answered
ChosenOption: 4

Q.4‘F$G’means‘FisthemotherofG’. ‘F #
G’means ‘F is the father of G’.
‘F@G’means‘FisthehusbandofG’.
‘F%G’means‘FisthedaughterofG’.
IfJ@C$B#R,thenhowisJrelatedto R?

Ans 1. Mother's brother
2. Father
< 3. Father'ssister

" 4. Father'sfather

QuestionlD:264330145392
Option1ID:264330569823
Option2ID:264330569825
Option31D:264330569826
Option41D:264330569824

Status:Answered
ChosenOption: 4

Q.5Inacertaincodelanguage,'SUGAR'iscodedas8land'FILL'iscodedas51.Howwill 'CREAM'
be coded in that language?

Ans  X1.52
<2.60
X3.57
4. 55

QuestionID:26433074709
Option11D:264330292924
Option21D:264330292927
Option31D:264330292926
Option41D:264330292925

Status:Answered
ChosenOption: 4




Q.6Selectthesetinwhichthenumbersarerelatedinthesamewayasarethenumbersof the
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13- Operations on 13 such as
adding/subtracting/multiplyingetc.tol3canbeperformed.Breakingdown13intol and 3
and then performing mathematical operations on 1 and 3 is not allowed.)
(7,2,70)
(6,4, 120)

Ans 1. (3,8, 120)
#52.(13, 4, 208)
X3.(5,9, 270)
754.(11,6,143)

Question|D:26433057454
Option11D:264330224801
Option21D:264330224803
Option31D:264330224800
Option41D:264330224802

Status:Answered
ChosenOption: 1

Q.7Selecttheoptionthatisrelatedtothethirdterminthesamewayasthesecondtermis related to
the first term and the sixth term is related to the fifth term.
16:106::11:?::10: 22

Ans  X1.36
X242
#$3.40
4. 31

QuestionID:26433079160
Option11D:264330310646
Option21D:264330310644
Option31D:264330310645
Option41D:264330310647

NotAttemptedand

Status: MarkedForReview

ChosenOption:--




Q8  Which figure from the given options would replace the question mark (?) if the
following figure series were to be continued?
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QuestionlD:264330145479
Option11D:264330570173
Option21D:264330570171
Option31D:264330570172
Option41D:264330570174

Status:Answered
ChosenOption: 4




Q.9Whichletter-clusterwillreplacethequestionmark(?)tocompletethegivenseries? PJVG,
VBZB, BTDW, HLHR,?

Ans 1. NDLN
2 2. MDLN
< 3. MDLM
o 4. NDLM

QuestionlD:26433040789
Option11D:264330159633
Option21D:264330159631
Option31D:264330159632
Option41D:264330159634

Status:Answered

ChosenOption: 4




Q10 ‘Which of the given figures when placed in the 5% position would continue the

series that is established by the first four figures?

PPt N

Ans

11Ty

=T

SINAR

IR’

QuestionID:26433087305
Option11D:264330342858
Option21D:264330342860
Option31D:264330342857
Option41D:264330342859

Status:Answered

ChosenOption: 1




Q11 Select the figure that will come next in the following figure series.

Ans

K2

A ESIETE:

QuestionID:26433087070
Option11D:264330341924
Option21D:264330341922
Option31D:264330341923
Option41D:264330341921

Status:Answered
ChosenOption: 1




Q.12Selectthecorrectoptionthatindicatesthearrangementofthegivenwordsinthe order in
which they appear in an English dictionary.

1. Doctor

2. Doctorate

3. Docile

4. Documentary
5. Dock

6. Doctrine

Ans  #1.351,26/4
#$2.3516,2,4
#<3.35,2,1,6,4
#$4.3,4,5,1,2,6,

QuestionlD:264330145375
Option1ID:264330569755
Option21D:264330569758
Option31D:264330569757
Option41D:264330569756

Status:Answered
ChosenOption: 3

Q13 Six characters A, B, C, 1, 2 and 3 are written on different faces of a dice. Two
positions of this dice are shown in the figure. Find the character on the face

opposite to A.

< 3
M'z\ VB’|J
Ans X 1.C
X 22
3B
X 41

QuestionlD:264330109200
Option11D:264330429079
Option21D:264330429080
Option31D:264330429078
Option41D:264330429077

Status:Answered
ChosenOption: 3

Q.14 Which of the following numbers will replace the question mark (?) in the given series?

N

3 1 q:
2 A 2 999
1217 11

Ans 1. 11
X212
X 321
X 41

QuestionID:26433092491
Option11D:264330363254
Option21D:264330363256
Option31D:264330363255
Option41D:264330363253

Status:Answered
ChosenOption: 1




Q.15Twostatementsaregiven,followedbytwoconclusionsnumberedlandll.Assuming
thestatementstobetrue,eveniftheyseemtobeatvariancewithcommonlyknown facts,
decide which of the conclusions logically follow(s) from the statements. Statements:
Somemoviesaredramas.

Somedramasarefiction.
Conclusions:

|. Somemoviesarefiction.
II. Allfictionaremovies.

Ans K 1.0nlyconclusionifollows
5 2. Onlyconclusionlifollows
" 3. Neitherconclusioninorlifollows

& 4. Bothconclusionslandllfollow

QuestionlD:26433056712
Option11D:264330221832
Option21D:264330221833
Option31D:264330221835
Option41D:264330221834

Status:Answered
ChosenOption: 3

\

Q.16IfAdenotes‘+’,Bdenotes‘x’,Cdenotes‘~’,andDdenotes‘+’ ,thenwhatwillbethe value of the
following equation?
22B7C288D12A27="?

Ans  X1.160
#52.103
#<3.130
4. 157

QuestionlD:264330129782
Option11D:264330508362
Option21D:264330508359
Option31D:264330508360
Option41D:264330508361

Status:Answered
ChosenOption: 4

\

Q.17Selecttheoptionthatisrelatedtothefourthterminthesamewayasthefirsttermis related to
the second term and the fifth term is related to the sixth term.
12:64::?:116::32: 144

Ans 1. 25
2. 46
X3.35
X4.14

QuestionID:26433079359
Option11D:264330311427
Option21D:264330311426
Option31D:264330311425
Option41D:264330311424

NotAttemptedand

Status: MarkedForReview

ChosenOption:--




Q.18IfAdenotes‘+’,Bdenotes‘x’,Cdenotes‘~’,andDdenotes‘+’,thenwhatwillbethe value of the
following equation?
21B14C154D14A42="?

Ans  #K1.357
2. 325
X3.342
/<4.352

QuestionlD:264330129786
Option11D:264330508377
Option21D:264330508376
Option31D:264330508375
Option41D:264330508378

Status:Answered
ChosenOption: 2

Q.19IfAdenotes‘+’,Bdenotes‘x’,Cdenotes‘~’,andDdenotes‘+’,thenwhatwillcomein place of ‘?’
in the following equation?
56D8B7=?B7

Ans  X1.9
2.7
~<3.8
<412

QuestionlD:26433067665
Option1ID:264330265175
Option21D:264330265174
Option3ID:264330265172
Option41D:264330265173

Status:Answered
ChosenOption: 2

\

Q.20AuntGloriawalkedoutofherhouseandwalked65mtowardstheeast.Shetookaleft turn and
walked 28 m.Again, she took a left turn and walked 110 m to reach a public library.
How far (shortest distance) and in which direction is the library fromAunt Gloria’s
house?

Ans Xl.48m,North-East

#< 2. 48m,North-West
&5 3.53m,North-East
" 4. 53m,North-West

QuestionID:26433057306
Option1lD:264330224211
Option21D:264330224209
Option31D:264330224208
Option41D:264330224210

NotAttemptedand

Status: MarkedForReview

ChosenOption:--




Q.21Selectthesetinwhichthenumbersarerelatedinthesamewayasarethenumbersof the
following set.

(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding/subtracting/multiplyingetc.tol3canbeperformed.Breakingdown13intol and 3
and then performing mathematical operations on 1 and 3 is NOT allowed)

(9,1,19)
(5,2,14)

Ans  X1.(3,5,56)
2. (3,2,10)
X£3.(2,5,12)
X4.(4,7,37)

QuestionlD:264330145321
Option11D:264330569539
Option21D:264330569541
Option3ID:264330569542
Option4lD:264330569540

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

\

Q.22 A cube is made by folding the given sheet. In the cube so formed, which pair of letters will be on the opposite faces?

P
T
Q

u
)
R

Ans  &#1.TandS
& 2.RandP
& 3.PanduU
& 4.UandT

QuestionlID:26433065669
Option11D:264330257238
Option21D:264330257239
Option3ID:264330257236
Option41D:264330257237

Status:Answered
ChosenOption: 1
|
Q.23A@Bmeans‘AisthehusbandofB’ A & B

means ‘A is the mother of B’

A#Bmeans‘AisthedaughterofB’
IfZ#L @P&K @J#X,thenhowisKrelatedtoZ?

Ans  «#1. Brother
< 2. Sister

#< 3. Mother
& 4. Brother'wife

QuestionID:264330126025
Option11D:264330493774
Option21D:264330493772
Option31D:264330493775
Option41D:264330493773

Status:Answered
ChosenOption: 1




Q.24Inacertaincodelanguage,'ALIVE'iscodedas64and'HALL'iscodedas45.Howwill 'MOVIE'
be coded in that language?

Ans X 1.71
X2.80

3. 79
54.58

Question|D:26433074710
Option11D:264330292929
Option21D:264330292928
Option31D:264330292930
Option41D:264330292931

Status:Answered
ChosenOption: 3

\

Q.25Six students Prateek, Sameer, Kabir, Ziya, Joseph, Kiran are sitting around a circular
table facing the centre (not necessarily in the same order). Prateek is an immediate
neighbour of both Sameer and Kabir. Ziya is sitting second to the right of Sameer.
KiranissittingthirdtotheleftofKabir.JosephisanimmediateneighbourofbothZiya and
Kabir.

WhoisanimmediateneighbourofZiya?

Ans  X1. Prateek
#5 2. Kabir
< 3. Sameer

" 4. Kiran

Question|D:26433082279
Option11D:264330322950
Option21D:264330322949
Option31D:264330322952
Option41D:264330322951

Status:Answered
ChosenOption: 4

\

. ________________________________________________________________________________________________________________________|
Q.26 If A denotes ‘+*, B denotes *x°, C denotes ‘", and D denotes ‘=, then what will be the value of the following expression?

89 A 94 C35D 8B 8= 2
Ans 1. 148

X 2.189

X 3.169

X 4135

QuestionID:26433085363
Option11D:264330335156
Option21D:264330335154
Option3ID:264330335153
Option41D:264330335155

Status:Answered
ChosenOption: 1




Q.27 The sequence of folding a piece of paper and the manner in which the folded paper
is cut is shown in the following figures. How would this paper look when
unfolded?
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QuestionlD:26433074792
Option11D:264330293257
Option21D:264330293259
Option31D:264330293256
Option41D:264330293258

Status:Answered
ChosenOption: 3

Q.28Selecttheoptionthatrepresentstheletterswhich,whensequentiallyplacedfromleft to
right in the blanks below, will complete the letter series.
F_Y__KB_OF_BY_Ans

#K1LOFKBOYK
75 2. BYOKFOK
o 3. KBOFYKO
< 4. YOKBFOK

QuestionID:26433086955
Option11D:264330341462
Option21D:264330341461
Option31D:264330341464
Option41D:264330341463

Status:Answered
ChosenOption: 3




Q.29Selecttheoptionthatisrelatedtothefifthletter-clusterinthesamewayasthesecond letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the
third letter-cluster.

INDIA:FKAFX::ESTONIA:BPQLKFX::MALAYSIA:?
Ans X 1. IPFXXIXV
X 2. IXVPFXXI
£ 3. IXIXFXVP

o 4. IXIXVPFX

QuestionlD:264330145395
Option11D:264330569836
Option21D:264330569835
Option31D:264330569837
Option41D:264330569838

Status:Answered
ChosenOption: 4

Q.30Inacertaincodelanguage,‘PAINT ’iswrittenas‘ODYTN’and'BRUSH'iswrittenas 'CMMOZ'.
How will ‘HOUSE’ be written in that language?

Ans  X1.WDNOS
" 2. WPMOC
&5 3. PHYWS
< 4. PBOMS

QuestionlD:26433074758
Option11D:264330293122
Option21D:264330293120
Option31D:264330293121
Option41D:264330293123

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

- -
Q.31Selecttheoptionthatrepresentsthecorrectorderofthegivenwordsastheywould appear in

an English dictionary?

1.Wrist

2.Wrangle

3.Workable

4.Wrongful

5.Woodland

Ans  #£1.35,21,4

K2.3,251,4
352314
453214

QuestionlD:26433067245
Option11D:264330263493
Option21D:264330263492
Option31D:264330263495
Option41D:264330263494

Status:Answered
ChosenOption: 4




Q.32 select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

M

S8BEYTK@8

N
Ans %1 88)TY388

X2 8@)XLA3898
v 8@NTYI88
X4 88NLAIES8

QuestionlD:26433085395
Option11D:264330335284
Option21D:264330335282
Option31D:264330335283
Option41D:264330335281

Status:Answered
ChosenOption: 3

Q.33Twostatementsaregiven,followedbytwoconclusionsnumberedlandll.Assuming
thestatementstobetrue,eveniftheyseemtobeatvariancewithcommonlyknown facts,
decide which of the conclusions logically follow(s) from the statements. Statements:
Someapplesareoranges.

Allorangesarefruits.
Conclusions:

1) Allapplesarefruits.

Il) Somefruitsareoranges.

Ans & 1.NeitherConclusioninorlifollows.
«" 2. OnlyConclusionlifollows.
#< 3. BothConclusionslandlifollow.

< 4. OnlyConclusionlfollows

QuestionlD:26433067702
Option1ID:264330265323
Option21D:264330265321
Option31D:264330265322
Option41D:264330265320

Status:Answered
ChosenOption: 2

\

Q.34ManoharcyclesXkmtowardswestandthenturnsrightandcyclesYkmtoreachhis
office.Now,theshortestdistancebetweenthestartingpointandhisofficeis13km. What
can be the value of X and Y, respectively, (in km)?

Ans  «#1.12and5
& 2.8and5
< 3. 11and6
75 4. 6and7

QuestionlD:264330129770
Option11D:264330508314
Option21D:264330508312
Option31D:264330508313
Option41D:264330508311

Status:Answered
ChosenOption: 1




Q.35Inacertaincodelanguage,'EARS’iscodedas‘4268’and‘NICE’iscodedas‘9723’. What is the
code for ‘E’in the given code language?

Ans  X1.3
2.2
X3.9
<44

QuestionlD:264330169653
Option11D:264330665312
Option21D:264330665313
Option31D:264330665314
Option41D:264330665311

Status:Answered
ChosenOption: 2

Q.36Sixpeoplearesittingaroundacirculartablefacingthecentre.Psitssecondtotheleft
ofQ.SisanimmediateneighbourofbothQandU.TsitssecondtotheleftofR.Who is the
immediate neighbour of both P and U?

Ans 1T
< 2s
X 3Q
X 4R

QuestionlD:26433068169
Option1lD:264330267188
Option21D:264330267190
Option3ID:264330267191
Option41D:264330267189

Status:Answered
ChosenOption: 1

Q.37BasedonthepositionintheEnglishalphabeticalorder,threeofthefollowingletter-
clustersarealikeinsomemannerandoneisdifferent.Selecttheoddletter-cluster.

Ans X 1.SWYX

& 2. PTVU
& 3. RVXW
" 4. LOQP

QuestionlD:264330145353
Option11D:264330569667
Option21D:264330569668
Option31D:264330569670
Option41D:264330569669

Status:Answered
ChosenOption: 4




Q.38Fourletter-clustershavebeengiven,outofwhichthreearealikeinsomemannerand oneis
different. Select the odd letter-cluster.

Ans 1. GCKD
< 2. UQYR
o 3. XOTP
< 4. NJRK

QuestionlD:264330180754
Option11D:264330708986
Option21D:264330708985
Option31D:264330708983
Option41D:264330708984

Status:Answered
ChosenOption: 3

\

Q.39Twostatementsaregiven,followedbytwoconclusionsnumberedlandll.Assuming
thestatementstobetrue,eveniftheyseemtobeatvariancewithcommonlyknown facts,
decide which of the conclusions logically follow(s) from the statements. Statements:
Someriversareoceans.

Alloceansarebeaches.
Conclusions:

|. Someriversarebeaches.
IIl. Alloceansarerivers.

Ans X 1.0nlyconclusionlifollows
#< 2. Bothconclusionslandllfollow
< 3. NeitherconclusionInorlifollows

#" 4. Onlyconclusionlfollows

QuestionID:26433056709
Option11D:264330221821
Option21D:264330221822
Option31D:264330221823
Option41D:264330221820

Status:Answered
ChosenOption: 4

\

Q.40If'+’means‘x’,'’means‘+’,'*’means‘+’,and‘+’means‘-’,thenwhatwillbethe value of the
following expression?
42x168-8+4+3="?

Ans  X1.62
X2.45
X3.56
4. 51

QuestionID:264330101246
Option11D:264330397532
Option21D:264330397530
Option3ID:264330397531
Option41D:264330397529

Status:Answered
ChosenOption: 4




Q.41Selecttheoptionthatisrelatedtothethirdwordinthesamewayasthesecondword is related
to the first word.
(Thewordsmustbeconsideredasmeaningfulwordsandmustnotberelatedtoeach other
based on the number of letters/number of consonants/vowels in the word.) Artist :
Painting :: Cobbler : ?

Ans  #X1. Stitching clothes
¥ 2. Fixingshoes
75 3. Woodenrepairwork

&5 4. Fixeselectricity

QuestionlD:26433087295
Option11D:264330342817
Option21D:264330342818
Option31D:264330342819
Option41D:264330342820

Status:Answered
ChosenOption: 2

Q.42Whichtwomathematicalsignsshouldbeinterchangedtomakethegivenequationcorrect?

15x3+15—(45x3)-10+(13+2)=76
Ans &1 andx
& 2. xand+
&5 3. xand—
KX 4. +and+

QuestionlD:264330145314
Option1lD:264330569512
Option21D:264330569514
Option3ID:264330569513
Option4lD:264330569511

Status:Answered
ChosenOption: 1

\

Q.43If'+’'means‘~’,'~’means‘x’,‘’means‘+’,'+’'means‘+ ,thenwhatwillcomeinplace of the
question mark (?) in the following equation?
23-5+240x8+14="

Ans  X1.145
X2.119

3. 131
X4.124

QuestionlD:264330126057
Option11D:264330493903
Option21D:264330493900
Option31D:264330493901
Option41D:264330493902

Status:Answered
ChosenOption: 3




Q.44SelectthecorrectmirrorimageofthegivenfigurewhenthemirrorisplacedatlineMN as

Ans

shown.

X2

M

LA

QuestionlID:26433056623
Option11D:264330221478
Option21D:264330221477
Option3ID:264330221479
Option41D:264330221476

Status:Answered
ChosenOption: 3




Q.45Twostatementsaregivenfollowedbytwoconclusionsnumberedlandll.Assuming
thestatementstobetrue,eveniftheyseemtobeatvariancewithcommonlyknown facts,
decide which of the conclusions logically follow(s) from the statements. Statements:
Allteasarejuices.

Alljuicesarecocktails.
Conclusions:

I. Allteasarecocktails.

IIl. Allcocktailsaredefinitelyjuices.

Ans X 1.Bothconclusionslandlifollow
#5 2. Onlyconclusionllfollows
¥ 3. Onlyconclusionlfollows

#< 4. NeitherconclusionInorllfollows

QuestionlD:26433058039
Option11D:264330227142
Option21D:264330227141
Option31D:264330227140
Option41D:264330227143

Status:Answered
ChosenOption: 3

Q.46Inacertaincodelanguage,'ACTOR'iscodedasROYCAand'NURSE'iscodedas ESWUN.
How will 'JUDGE' be coded in the same language?

Ans 1. EGJUI
X 2. GEIUJ
& 3.EGUI
o 4. EGIUJ

QuestionlD:264330132201
Option11D:264330517902
Option21D:264330517900
Option3ID:264330517899
Option4lD:264330517901

Status:Answered
ChosenOption: 4

\

Q.47Whichofthefollowingnumberswillreplacethequestionmark(?)inthegivenseries? 76, 99,
135, 185, 250, ?

Ans  #X1.330

2. 331
X3.328
X<4.315

QuestionID:26433069398
Option11D:264330272106
Option21D:264330272107
Option31D:264330272104
Option41D:264330272105

Status:Answered
ChosenOption: 2




Q.48 A cube is made by folding the given sheet. In the cube so formed, which letter will be on the face opposite to the face
having ‘F*?

[A

-anr|1|

Ans o 1D
X 2E
X 3B
X 4A

QuestionlD:26433065671
Option11D:264330257245
Option21D:264330257244
Option31D:264330257246
Option41D:264330257247

Status:Answered
ChosenOption: 1

\

Q.49Whichofthefollowingnumberswillreplacethequestionmark(?)inthegivenseries?

4,11,19,31,52,89,?
Ans 1. 151
/<2.105
X3.150

X4.115

Question|D:26433059922
Option11D:264330234521
Option21D:264330234522
Option31D:264330234523
Option41D:264330234520

Status:Answered
ChosenOption: 1

\

Q.50Whichofthefollowingnumberswillreplacethequestionmark(?)inthegivenseries?

134,129,122,?,102,89
Ans  X1.117
2. 113
<3111

X4.115

QuestionID:26433091010
Option11D:264330357450
Option21D:264330357449
Option3ID:264330357452
Option41D:264330357451

Status:Answered
ChosenOption: 3

Section:GeneralKnowledgeandGeneralAwareness




WhichofthefollowingArticlesofthelndianConstitutionempowerstheParliamentto
restrictorabrogatethefundamentalrightsofthemembersofthearmedforces,para- military
forces, police forces, intelligence agencies and analogous forces?

Ans X 1.Artcle 35
< 2. Article31
¥ 3. Article33
5 4. Article37

QuestionlD:264330113391
Option11D:264330445651
Option21D:264330445649
Option31D:264330445652
Option41D:264330445650

Status:NotAnswered
ChosenOption:--

- ——————————
MohenjodarositeofHarappancivilisationissituatedonthebankofwhichriver? Ans
251, Jhelum river

«" 2. Indusriver
& 3. Ghargharariver

< 4. Beasriver

QuestionlD:264330164839
Option11D:264330646485
Option21D:264330646484
Option31D:264330646483
Option41D:264330646486

Status:Answered
ChosenOption: 2

- -
The Wadali Brothers are singers.
Ans X 1. Pandavani

< 2. Lavani

" 3. Sufi
2 4. Bhatiali

QuestionlD:264330145157
Option11D:264330568885
Option21D:264330568883
Option31D:264330568884
Option41D:264330568886

Status:Answered
ChosenOption: 3

- ______________________________________—— 00—
Q.4Rongkerfestivaliscelebratedbywhichofthefollowingtribes? Ans
1. Karbi
& 2.Gond

25 3. Bhil
& 4.A0

QuestionlD:264330164804
Option11D:264330646344
Option21D:264330646345
Option3ID:264330646346
Option41D:264330646343

Status:NotAnswered
ChosenOption:--




Q.5WhoamongthefollowingMauryankingsturnedtoBuddhismanditstenetofnon- violence
after the Kalinga war?

Ans  #X1. Chandragupta Maurya
#< 2. Bindusara
" 3. Ashoka
< 4. Dasharatha

QuestionlD:264330165559
Option11D:264330649315
Option21D:264330649316
Option31D:264330649317
Option41D:264330649318

Status:Answered
ChosenOption: 3

\

Q.6Whatisthenameofthelargesupercontinentthatexisted200millionyearsagowhen all the
continents were together?

Ans X 1.Asia
#< 2. India
" 3. Pangea

#< 4. America

QuestionlD:26433064468
Option11D:264330252464
Option21D:264330252465
Option31D:264330252467
Option41D:264330252466

Status:Answered
ChosenOption: 3

- e
Q.7Whoexplainedthestructureofprotein? Ans
/1. RF Rose

#< 2. EmilFischer
& 3. JohnsonandCristae

" 4. PaulingandCorey

Questionl|D:26433086616
Option11D:264330340106
Option21D:264330340105
Option3ID:264330340107
Option41D:264330340108

Status:Answered
ChosenOption: 1

- _______________________________________—— |
Q.8AccordingtoCensusofindia2011,identifythethirdlargestspokenlanguageinindia.Ans
#<1. Tamil

& 2. Marathi
#5 3. Bengali
& 4. Hindi

QuestionID:264330166809
Option11D:264330654272
Option21D:264330654273
Option3ID:264330654271
Option41D:264330654274

Status:Answered
ChosenOption: 1




Q.9Whichofthefollowingtaxesisproportionalinnature? Ans
/<1. Capital Gains Tax

< 2. IncomeTax
#< 3. CorporationTax
" 4. GoodsandServicesTax

QuestionlD:264330145241
Option11D:264330569222
Option21D:264330569221
Option31D:264330569219
Option41D:264330569220

Status:NotAnswered
ChosenOption:--

Q.10GopikaVarmahaswontheSangeetNatakAkademiAwardin2019inwhichofthe following
dance forms?

Ans 25 1. Kathak

#5 2. Bharatanatyam
¥ 3. Mohiniyattam
& 4. Kuchipudi

QuestionlD:264330145155
Option1lD:264330568876
Option2ID:264330568877
Option31D:264330568878
Option4l1D:264330568875

Status:Answered
ChosenOption: 1

Q.11WhatisthelUPACnameoftheorganiccompounddepictedinthefigure?

Ans &1 1-Methyl-1-Propylcyclohexane
#< 2. 1-Methyl-2-Propylcyclohexane
5 3. 1-Methyl-4-Propylcyclohexane
" 4. 1-Methyl-3-Propylcyclohexane

QuestionlD:264330131672
Option11D:264330515787
Option21D:264330515788
Option3ID:264330515790
Option41D:264330515789

Status:Answered
ChosenOption: 3




Q.12Identifywhetherthegivenstatementsaboutionisationenergyarecorrectorincorrect.
StatementA:Theionisationenergyofanatomistheamountofenergythatisrequired to
remove an electron from a mole of atoms in the gas phase.
StatementB:Theionisationenergyincreasesfromtoptobottomingroupsand
decreases from left to right across a period.

Ans /X 1.BothStatementsAandBarecorrect
¥ 2. OnlyStatementAiscorrect
/< 3. BothStatementsAandBareincorrect

#5 4. OnlyStatementBiscorrect

QuestionlD:264330137996
Option1lD:264330540594
Option21D:264330540591
Option31D:264330540592
Option41D:264330540593

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

\

Q.13WhichofthefollowingsportsdoesNOThaveitsapexnationalgoverningbody
headquartered in New Delhi?

Ans 25 1.Athletes Federation of India

#5 2. BadmintonAssaciationofindia
¥ 3. VolleyballFederationofindia
& 4. Hockeylndia

Question|D:26433092331
Option1ID:264330362623
Option21D:264330362624
Option31D:264330362621
Option41D:264330362622

Status:Answered
ChosenOption: 3

\

Q.14WhichofthefollowingisanautobiographyofaBengaliilliteratewomanwhosecretly
acquired literacy skills to read sacred texts in an age when girls and women were
denied education and deemed fit only for household chores?

Ans  #<1.EnteKathabyKamalaDas

" 2. AmarJibanbyRassundariDevi
< 3. JinaAmuchabyBabyKamble
25 4. SmritichitrebylLakshmibaiTilak

QuestionlD:26433071427
Option11D:264330280133
Option21D:264330280134
Option31D:264330280135
Option41D:264330280132

Status:Answered
ChosenOption: 2




Q.15The Lucknow Pact was signed in byCongressandtheMuslimLeaguetowork in
alliance for representative government.

Ans  #K1.1920
/<2.1914
3. 1916
/<4.1918

QuestionlD:264330112346
Option11D:264330441472
Option21D:264330441469
Option31D:264330441470
Option41D:264330441471

Status:Answered
ChosenOption: 3

Q.16WhatismostimportanthealthbenefitsofVitaminD? Ans

1. Strengthening of bones and muscles

#< 2. Reducingthebloodpressure
25 3. Rapidgrowthafterteenageyears

< 4. Elevationofheartbeat

QuestionlD:26433066708
Option11D:264330261357
Option21D:264330261358
Option31D:264330261356
Option41D:264330261359

Status:Answered
ChosenOption: 2

\

Q.17WhatisthenameofthegeostationarysatellitelaunchedbylSROiIn1983thatprovides high
power TV broadcasting and telecommunications national coverage transponders?

Ans 1. Bhaskara-|

" 2. Insat-1B
< 3. GSAT-7
5 4. RISAT-1

QuestionlD:264330111325
Option11D:264330437387
Option21D:264330437388
Option31D:264330437385
Option41D:264330437386

Status:Answered
ChosenOption: 3




Q.18WhichArticleofthelndianConstitutionprovidesforequalopportunityforallcitizens in the
matter of employment under the state?

Ans X 1.Artcle 17
o 2. Article16
&5 3. Article18
#< 4. Article15

QuestionlD:264330114489
Option11D:264330450043
Option21D:264330450042
Option31D:264330450044
Option41D:264330450041

Status:Answered
ChosenOption: 4

\

Q.19WhichRajputprincessbelongedtotheBhaktitraditionofMedievalindia,whose songs
were devoted to Lord Krishna?

Ans 1. Mirabai
< 2. Muddupalani
< 3. LalDed
#< 4. AkkaMahadevi

QuestionlD:26433074821
Option11D:264330293373
Option21D:264330293375
Option31D:264330293372
Option41D:264330293374

Status:Answered
ChosenOption: 1

\

- |
Q.20WhenwastheNationalInterimGovernmentofindiaformed,underJawaharlalNehru? Ans

1. 2 September 1946
75 2. 2September1947

25 3. 20September1946
X 4. 2September1945

QuestionlD:264330106613
Option11D:264330418756
Option21D:264330418754
Option3ID:264330418755
Option41D:264330418753

Status:Answered
ChosenOption: 4

\

Q.21which amongthefollowingisINCORRECTaboutthesalientfeaturesofthe73’dAmend mentA
ct?

Ans X1.TheActgivesaConstitutionalstatustothePanchayatiRajInstitutions.

#5 2. Itcontains29functionalitemsofthePanchayatsanddealswithArticle243t0243(0).
< 3. TheActhasaddedtheEleventhScheduletotheConstitutionofIndia.

¥ 4. TheActcorrespondstoPartllloftheConstitutionofIndia.

QuestionlD:264330145272
Option11D:264330569346
Option21D:264330569345
Option31D:264330569344
Option41D:264330569343

Status:Answered
ChosenOption: 3




Q.22Whichelementoftheboronfamilyhasahighboilingpoint,makingitidealfor recording
temperatures that would vaporise a thermometer?

Ans  #51. Thallium
< 2. Aluminium
" 3. Gallium
#< 4. Indium

QuestionlD:264330110058
Option11D:264330432509
Option21D:264330432512
Option31D:264330432510
Option41D:264330432511

Status:Answered
ChosenOption: 1

\

Q.23Howmanymedal(s)didIindiawinintheWorldAthleticsChampionship2022? Ans
X114
~2.2
~3.3
Wil

QuestionlD:264330109685
Option11D:264330431020
Option21D:264330431018
Option31D:264330431019
Option41D:264330431017

Status:Answered
ChosenOption: 3
- "
Q.24WhobecamethefirstindiantowintheprestigiousZurichDiamondLeagueFinal2022 in

Switzerland?

Ans  #X1. Rameshbabu Praggnanandhaa
< 2. MaryKom
" 3. NeerajChopra
£ 4. PVSindhu

QuestionlD:264330119248
Option11D:264330467279
Option21D:264330467280
Option3ID:264330467282
Option41D:264330467281

Status:Answered
ChosenOption: 3

Q.25Whichofthefollowinggovernmentdepartmentsisassociatedwithinfrastructure
development in India?

Ans XLDivisionofEconomicAgenda
#5 2. DivisionofElectricityAgenda
< 3. DepartmentofEnergyAffairs

" 4. DepartmentofEconomicAffairs

QuestionID:264330163203
Option11D:264330640124
Option21D:264330640126
Option31D:264330640123
Option41D:264330640125

Status:Answered
ChosenOption: 4




Q.26ldentifyananomalyelementthatbelongstobothgrouplandgroupl?. Ans
Z<1. Oxygen

" 2. Hydrogen

#< 3. Chlorine

#5 4. Nitrogen

QuestionlD:264330134866
Option11D:264330528400
Option21D:264330528399
Option31D:264330528402
Option41D:264330528401

Status:Answered
ChosenOption: 2
- ———————
Q.27The Vijayanagar kingdom was established by in1336.
Ans 1. Venkata Il

# 2. Devarayall
< 3. Krishnadevaraya
" 4. HariharaandBukka

QuestionlD:264330106565
Option11D:264330418563
Option21D:264330418564
Option31D:264330418562
Option41D:264330418561

Status:Answered
ChosenOption: 4

Q.28WhichofthefollowingisthenewalluviumdepositedbyfloodsintheGangaPlain? Ans X

1. Regur
" 2. Khadar
&< 3. Kachhar
< 4. Bhangar

QuestionlD:264330119789
Option11D:264330469433
Option21D:264330469432
Option3ID:264330469431
Option41D:264330469434

Status:Answered
ChosenOption: 2
- ____________________________________—— 4|
Q.29WhichofthefollowingArticlesoftheConstitutionofindiaprovidesthattheGovernor

appointstheChiefMinisterandlater,theChiefMinisterrecommendstheappointment  of
ministers to the Governor?

Ans  X1.Atticle 167

75 2. Article165
«" 3. Article164
< 4. Article163

QuestionID:264330113440
Option11D:264330445846
Option21D:264330445847
Option31D:264330445848
Option41D:264330445845

Status:Answered
ChosenOption: 3




Q.30Whatwastheruralliteracyrateinindia,accordingtothe2011Census? Ans
X1 67.00%
2. 66.77%
X3. 67.77%
~<4. 69.00%

QuestionlD:264330110657
Option11D:264330434906
Option21D:264330434905
Option31D:264330434908
Option41D:264330434907

Status:Answered
ChosenOption: 2
- |
Q.31FIFA Women’s World Cup 2023 will be hosted by .
Ans  «”1. Australia and New Zealand

#5 2. USAandCanada
# 3. FranceandGermany

#5 4. BrazilandArgentina

QuestionlD:264330109845
Option11D:264330431659
Option21D:264330431660
Option31D:264330431657
Option41D:264330431658

Status:Answered
ChosenOption: 3

Q.32ThePresidentofindiadecidesonthequestionastothedisqualificationofMembersof
Parliament in consultation with the .

Ans X1.SupremeCourtoﬂndia
5 2. Parliament
2 3. VicePresident

" 4. ElectionCommissionofindia

QuestionlD:264330130470
Option11D:264330510993
Option21D:264330510991
Option31D:264330510992
Option41D:264330510994

Status:Answered
ChosenOption: 1

\

Q.33Mohiniyattam,aclassicaldanceofindiabelongstowhichofthefollowingstates? Ans

#<1. Uttar Pradesh

" 2. Kerala
/< 3. AndhraPradesh
5 4. Manipur

QuestionID:26433094863
Option11D:264330372273
Option21D:264330372276
Option31D:264330372274
Option41D:264330372275

Status:Answered
ChosenOption: 2




Q.34WhichofthefollowingisNOTanexampleofmanufacturingactivity? Ans

#<1. Yarn made from cotton
< 2. Sugarmadefromsugarcane
/< 3. Papermadefromwood

" 4. Mutualfundproductmadebycombingdebtandequityfunds

QuestionlD:264330168856
Option1ID:264330662238
Option21D:264330662236
Option31D:264330662235
Option41D:264330662237

Status:Answered
ChosenOption: 4
|
Q.35WhichofthefollowingisINCORRECTmatch?Ans

#<1. Pressure — Pascal

" 2. Volume—Meter
< 3. Force-Newton

< 4. Workdone-Joule

QuestionlD:264330131764
Option1ID:264330516158
Option21D:264330516157
Option31D:264330516156
Option41D:264330516155

Status:Answered
ChosenOption: 2

\

Q.36WhichpartofthelndianConstitutiondealswithdirectiveprinciplesofstatepolicy? Ans
X1. Part ViI

X 2. PartVvl
3. Partv
" 4. Partlv

QuestionlD:264330111527
Option11D:264330438196
Option21D:264330438195
Option31D:264330438194
Option41D:264330438193

Status:Answered
ChosenOption: 4
- ______________________________________—— 00—

Q.37Mangoshowersare:

Ans 1. cyclones
X 2. jetstreams
& 3. storms

" 4. pre-monsoonshowers

QuestionlD:264330169988
Option11D:264330666628
Option21D:264330666629
Option31D:264330666630
Option41D:264330666627

Status:Answered
ChosenOption: 4




Q.38WhattypeofclimateisfoundinNorthWesternEurope,WestCoastofNorthAmerica, North of
California, Southern Chile, South-eastern Australia and New Zealand?

Ans  «1.Marinewestcoastclimate
& 2. Coldsnowforestclimate
5 3. Subtropicalsteppeclimate
#< 4. Tropicalwetanddryclimate

QuestionlD:264330145190
Option1ID:264330569015
Option21D:264330569016
Option31D:264330569017
Option41D:264330569018

Status:Answered
ChosenOption: 1

\

Q.39Whichofthefollowingplacesofindiacanhavemaximumtemperaturedifference between
the day and night?

Ans  &1. Thiruvananthapuram

o 2. Jaisalmer
25 3. PortBlair

5 4. Kanyakumari

QuestionlD:264330169312
Option11D:264330664028
Option21D:264330664027
Option31D:264330664029
Option41D:264330664030

Status:Answered
ChosenOption: 2

- —:a-"———————
Q.40Mohiniyattambelongstowhichofthefollowingstates? Ans
#<1. Jharkhand

#< 2. Chhattisgarh
/< 3. Karnataka
" 4. Kerala

QuestionlD:264330164789
Option11D:264330646284
Option21D:264330646285
Option31D:264330646286
Option41D:264330646283

Status:Answered
ChosenOption: 4
- ____________________________________—— 4|
Q.41HaripriyaNamboodiriisanexponentofwhichindianclassicaldanceform? Ans
1. Kathakali

#5 2. Kuchipudi

25 3. Odissi
#5 4. Bharatanatyam

QuestionID:26433086721
Option11D:264330340526
Option21D:264330340528
Option31D:264330340527
Option41D:264330340525

Status:NotAnswered
ChosenOption:--




Q.42DuringoneoftheFive-YearPlanswhichofthefollowingpoliticiansgavetheslogan ‘Garibi
Hatao’?

Ans  X1. Charan Singh
#< 2. GainiZailSingh
&5 3. MorarjiDesai
" 4. IndiraGandhi

QuestionlD:264330145248
Option11D:264330569250
Option21D:264330569249
Option31D:264330569247
Option41D:264330569248

Status:NotAnswered
ChosenOption:--

\

Q.43DuringWhichphaseofthecellcycledoesmetabolicchangesassemblethe cytoplasmic
material required for mitosis and cytokinesis?

Ans 1. G2 phase
& 2. Glphase

< 3. S phase
#< 4. Mphase

QuestionlD:264330145197
Option1ID:264330569045
Option21D:264330569044
Option31D:264330569043
Option41D:264330569046

Status:NotAnswered
ChosenOption:--

\

Q.44Expenditureofthegovernmentonhealthfacilities,educationandfixed-asset
acquisition is termed as

Ans  X1.revenue expenditure
75 2. planexpenditure
&5 3. non-planrevenueexpenditure

¥ 4. capitalexpenditure

QuestionlD:264330141435
Option11D:264330554075
Option21D:264330554076
Option3ID:264330554078
Option41D:264330554077

Status:Answered
ChosenOption: 4




Q.45WhichofthefollowingistheautobiographyofthefirstindianPresidentDr.Rajendra Prasad?
Ans X 1.Atmavrittanta

" 2. Atmakatha
#< 3. AShotatHistory
75 4. MyCountryMyLife

QuestionlD:264330145182
Option11D:264330568986
Option21D:264330568983
Option31D:264330568984
Option41D:264330568985

Status:Answered
ChosenOption: 1

\

Q.46Whichofthefollowingpolicymeasuresisasteptowardsliberalisation? Ans

/< 1. Enhancing tariffs
¥ 2. Eliminatinglicensesforimportingamajorityofgoods
< 3. Imposinglimitsoncapitalaccumulation

#5 4. Increasingrequirementsforbankreservesandrestrictionsoninterestrates

QuestionlD:26433064579
Option11D:264330252910
Option21D:264330252909
Option31D:264330252908
Option41D:264330252911

Status:Answered
ChosenOption: 2

- ———————
Q.47WhichofthefollowingculturalfestivalsofSouthindiaisassociatedwiththefolklore of King
Mahabali?

Ans  X1.Gudi Padwa
5 2. Ugadi
& 3. Pongal

" 4. Onam

QuestionlD:264330145144
Option11D:264330568833
Option21D:264330568834
Option31D:264330568831
Option41D:264330568832

Status:Answered
ChosenOption: 2
- ______________________________________—— 0
Q.48Europeansenteredindiawithamindsetoftradingonly.Thisstreakwasinitiatedby which of
the following European nations?

Ans 1. French

" 2. Portuguese
& 3. British
25 4. Dutch

QuestionID:264330165386
Option11D:264330648623
Option21D:264330648625
Option31D:264330648626
Option41D:264330648624

Status:Answered
ChosenOption: 2




Q.49Howbigareredbloodcellsindiameter? Ans
«1.75um

2$2.2.0 um

#<3.4.0 pm

4. 40.0 pm

Q.50InwhichyearTimur’sinvasionofDelhitookplace? Ans
<1 1492

X2.1221
3. 1526
4. 1398

QuestionlD:264330145215
Option11D:264330569116
Option21D:264330569115
Option31D:264330569118
Option41D:264330569117

Status:NotAnswered
ChosenOption:--

QuestionlD:264330109005
Option11D:264330428300
Option21D:264330428297
Option31D:264330428299
Option41D:264330428298

Status:NotAnswered
ChosenOption:--

Section:QuantitativeAptitude

Qt Find the value of 1 —tanA

1+ tanA

Ans

1+sin2A
cos2A

:

1—sin2A
cos2A

2

1+ sinA
cos A

-

1 —sinA
cosA

QuestionlD:264330131547
Option11D:264330515291
Option21D:264330515292
Option31D:264330515294
Option41D:264330515293

Status:Answered
ChosenOption: 2




Q.2Ifthediameterofasphereisreducedtoitshalf,thenthevolumewouldbe:

Ans _ 3 1
X1 increased by 3 of the former volume

X2. reduced by i of the former volume

<3. increased by % of the former volume

4 reduced by 5— of the former volume

QuestionlD:264330145110
Option11D:264330568695
Option21D:264330568697
Option31D:264330568698
Option41D:264330568696

Status:Answered
ChosenOption: 4
- -/« |
Q.3TheHCFof3888and3969 is:
Ans 181
X2.73
X3.83

X4.71

QuestionlD:264330145042
Option11D:264330568423
Option21D:264330568426
Option31D:264330568425
Option41D:264330568424

Status:Answered
ChosenOption: 1
-
Q.4Whichisthesmallestnaturalnumberthatisexactlydivisiblebyeachof96,108and 144?
Ans 1. 864

2. 2592
X3.1296
X4.1728

QuestionlD:264330103227
Option11D:264330405215
Option21D:264330405214
Option3ID:264330405213
Option41D:264330405216

Status:Answered
ChosenOption: 1




Ans

Ans

/<1.30
<210
#$3.20
«4.40

different years.

Q.5FindtheHCFo0f240,280and560.

QuestionlD:26433065034
Option11D:264330254731
Option21D:264330254730
Option31D:264330254729
Option41D:264330254728

Status:Answered
ChosenOption: 4

\

Q.6Thefollowingtableshowsthenumberofmobilephonessoldbyfourdifferentstores in four

Stores | 2012 2013 2014 2015

P 178 183 205 225

Q 133 198 220 235

R 284 250 220 198

S 225 243 199 205

iI;inzcé)tlhsedifferencebetweenthenumberofmobiIephonessoldbystoreQin2013and store S

<112

2.7

X3.10

4.8

QuestionlD:264330158616
Option11D:264330621825
Option21D:264330621824
Option31D:264330621823
Option41D:264330621826

Status:Answered
ChosenOption: 2




Q.7Thetablebelowshowstheproductionofjutefabric(inlakhmetre)bytwoCompanies P and Q
during 2001 to 2005.

Year Company P Company Q
2001 100 96

2002 120 130

2003 108 100

2004 190 180

2005 240 275

Inwhichyear/years,didCompanyQproducemorefabricthanCompanyP?
Ans 1. 2002

#<2. 2005
#<3. 2003, 2005
#4.2002,2005

QuestionlD:264330165072
Option11D:264330647415
Option21D:264330647417
Option31D:264330647418
Option41D:264330647416

Status:Answered
ChosenOption: 1

-

Q.8Acar, during its entire journey of 5 hours, travels the first 45 minutes at a certain
speed,thenext75minutesataspeedof85km/h,andthelast3hoursataspeedof70 km/h.
During its entire journey, the average speed of the car is found to be 73 km/h. What is
the speed (in km/h) of the car during the first 45 minutes?

Ans 1. 65
X2.68
X3.62
Xa.72

QuestionlD:264330103989
Option11D:264330408258
Option21D:264330408257
Option31D:264330408260
Option41D:264330408259

Status:Answered
ChosenOption: 1

- ______________________________________

Q.9Peter invested a certain sum of money in a scheme paying 10% simple interest per
annum, while Rachel invested half of the sum that Peter invested in a scheme paying
10%interestperannumcompoundedannually.Also,whilePeterinvestedfor2years,
Rachelinvestedfor3years.IfthedifferenceintheinterestearnedbyPeterandRachel was
%897, what was the sum that Rachel had invested?

Ans  +#1.%13,000
#52.212,900

#$3.%13,100
7<4.%12,960

QuestionID:264330145053
Option11D:264330568470
Option21D:264330568468
Option31D:264330568469
Option41D:264330568467

NotAttemptedand

Status: MarkedForReview

ChosenOption:--




Q.10Thepriceofalmondsisincreasedby10%.Bywhatpercentageshouldthe consumption be
decreased so that the expenditure remains the same?

Ans

1

== ()
oL 911A)
xo. 5%%
<3 8;1{%

. 3
xa. 10;%

QuestionlD:264330145038
Option11D:264330568408
Option21D:264330568410
Option31D:264330568407
Option41D:264330568409

Status:Answered
ChosenOption: 1
- |
Q.11Avendormarkedthesellingpriceofatableat¥5,670afteradding35%profittoitscost price.

Since the sale was very low at this price level, he decided to sell the table with 12%

profit. Find the new selling price (in ).
Ans 14,810

X2. 4,750
3. 4,704
4. 4,608

QuestionlD:264330131519
Option1lD:264330515179
Option21D:264330515180
Option3ID:264330515181
Option41D:264330515182

Status:Answered
ChosenOption: 3

Q.12Thetimetakentotravelthesamedistancebythreecarsisintheratioof12:15:10. What is the
ratio of the speeds of the three cars?

Ans  X1.4:5:6
X2.4:6:5
¥3.5:4:6
X4 5:6:4

QuestionID:264330103971
Option11D:264330408186
Option21D:264330408187
Option31D:264330408185
Option41D:264330408188

Status:Answered
ChosenOption: 3




Q.13Findtheareaofatrianglewhoselengthoftwosidesare4dcmand5cmandtheangle between
them is 45°.

Ans X1 44/2 cm?
X2, /2 cm?
3. 52 cm?
4. 6v/2 cm?

QuestionlD:264330103632
Option11D:264330406836
Option21D:264330406833
Option31D:264330406835
Option41D:264330406834

Status:Answered
ChosenOption: 3

Q.14Ifashopkeeperallowsadiscountof10%tohiscustomersandstillgains30%,then the
marked price of an article which costs ¥450 is:

Ans  K1.%700
2. 3650
#$3.3500
<4.%750

QuestionlD:264330104506
Option11D:264330410327
Option21D:264330410326
Option31D:264330410325
Option41D:264330410328

Status:Answered
ChosenOption: 2

Q.15Thefourthproportionalto0.3,0.8and0.108is:
Ans  X1.0.144

X2.0.124
+#3.0.288
X4.0.482

QuestionlD:264330145036
Option11D:264330568399
Option21D:264330568401
Option31D:264330568400
Option41D:264330568402

Status:Answered
ChosenOption: 3




Q.16Simplifythegivenexpression.

(3.254 X 3.254 X 3.254) — (0.746 X 0.746 X 0.746)
(3254 X 3.254) + (0.746 X 0.746) + (3.254 X 0.746)

Ans  #K1.3.156
/<2.4.508
#53.2.146
«#4.2.508

QuestionlD:264330157769
Option11D:264330618437
Option21D:264330618436
Option31D:264330618438
Option41D:264330618435

Status:Answered
ChosenOption: 4

-
Q.17The price of aland passing through three hands rises on the whole by 65%. The first

andsecondsellersearned20%and25%profit,respectively.Findtheprofitpercentage
earned by the third seller.

Ans  1.10%
X2. 20%
X3 25%
X4 15%

QuestionlD:264330102343
Option11D:264330401838
Option21D:264330401837
Option31D:264330401840
Option41D:264330401839

Status:Answered
ChosenOption: 1




Q18  study the given table and answer the question that follows.

The table shows the number of people who responded to a survey about their
favourite style of music.

Age 18-20| 21-30| 31+
Classical | 8 5 15
Pop 5 11 10
Hip-Hop| 6 9 8
Rock 9 7 13
Total 28 32 46

What percentage of the total sample indicated that Rock is their favourite style
of music (rounded off to 2 decimal places)?

Ans 1. 27.36%
#<2.18.25%
2<3.29.65%
#54.22.35%

QuestionlD:264330158262
Option1ID:264330620409
Option2ID:264330620407
Option3ID:264330620410
Option4ID:264330620408

NotAttemptedand

Status: MarkedForReview

ChosenOption:--
e

Q.19 The following table shows the percentage population of four towns below poverty line and the proportion of males and

females:

Town | Percentage of Below poverty line | Above poverty
population below line
poverty line Male : Female Male : Female

A 10 1:3 3:2

B 15 3:4 1:2

C 20 2:3 5:3

D 25 4:5 5:4

If the total population of town C is 8000 then what is the number of females above the poverty line in state C?
Ans 1. 2000
2. 2200
+3. 2400
7<4. 2600

QuestionlD:264330167244
Option11D:264330655971
Option21D:264330655972
Option3ID:264330655973
Option41D:264330655974

Status:Answered
ChosenOption: 3




Q.20

Ans

Q21

Ans

Thevalueof - a7 % 157 x 157) — (133 X 133 X 133) >

(157 x 157) + (157 x 133) + (133 x 133) . .

w1 i
24

<224
X3. 290

290

QuestionlD:264330157765
Option11D:264330618420
Option21D:264330618419
Option31D:264330618421
Option41D:264330618422

Status:Answered
ChosenOption: 1

\

The number of hours spent by a student on different activities as shown in the
following pie chart:

Number of hours

m School

¥ Home Work
u Play

" Sleep

M Others

The central angle corresponding to the sleeping time is what percentage of the
whole central angle?

1. 66.66%

2. 33.33%

$3.55%

4. 50%

QuestionlD:264330145081
Option11D:264330568580
Option21D:264330568579
Option31D:264330568582
Option41D:264330568581

Status:Answered
ChosenOption: 2




Q.22Theareaofarectangularfieldis480m?2.Iithelengthis20%morethanthebreadth, then the
length of the rectangular field is:

Ans  #£1.30m
#£2.20m
«#3.24m
K4.27m

QuestionlD:264330165653
Option11D:264330649691
Option21D:264330649694
Option31D:264330649693
Option41D:264330649692

Status:Answered
ChosenOption: 3

Q.23InacirclecentredatO,PQisatangentatP.Furthermore,ABisthechordofthecircle and is
extended to Q. If PQ =12 cm and QB =8 cm, then the length ofAB is equal to:

Ans  #&1.20cm

& 2. 4cm
" 3. 10cm
& 4.8cm

QuestionlD:264330165494
Option11D:264330649058
Option21D:264330649055
Option3ID:264330649057
Option41D:264330649056

Status:Answered
ChosenOption: 1
- ———————
Q.24Theupstreamspeedofaboatis8km/handthedownstreamis15km/h.Whatisthe

speedoftheboatinstillwaterandthespeedofthestream(inkm/h),respectively?

Ans  #1.1land3

/5 2.3and11
«#3.11.5and3.5
X<4.35and 11.5

QuestionlD:264330119531
Option11D:264330468409
Option21D:264330468410
Option31D:264330468407
Option41D:264330468408

Status:Answered
ChosenOption: 3




Q.25Anumber is first decreased by 28% and then increased by 28%. The number so
obtainedis784lessthantheoriginalnumber.Findthevalueoftheoriginalnumber.

Ans  #1.1000
#<2. 15000
3. 10000
#<4. 1500

QuestionlD:264330103389
Option11D:264330405862
Option21D:264330405863
Option31D:264330405861
Option41D:264330405864

Status:Answered
ChosenOption: 2

\

Q.26Thefollowingpiechartshowsthenumberofstudentswhofailedindifferentsubjects in an
examination. Examine the chart and answer the following question. The total
number of students who have failed is 350.

Thenumberofstudentsfailedinmathematicsislessthanthenumberofstudents failed in
all other subjects by:

Ans  #1.190
X2. 256
X3.95
4. 161

QuestionlD:264330165435
Option11D:264330648822
Option21D:264330648821
Option31D:264330648819
Option41D:264330648820

Status:Answered
ChosenOption: 4




Q27 Simplify the following.
19+5 of (27—~ 15-21) +37

Ans 6124
ol —
165

. 19
X 2. —
165

. 6142
X 3i—
165

. 37
X4 —
165

QuestionlD:26433073053
Option11D:264330286406
Option21D:264330286405
Option31D:264330286404
Option41D:264330286407

Status:Answered
ChosenOption: 1
-
Q.28The price of a stock increased by 30% in the first year and decreased by 20%in the

secondyear.lfaninvestorbought100sharesofthestockfor¥1,000,thenwhatisthe final value
of the investment after 2 years?

Ans  X1.%960

2. 31,040
#53. 21,400
X4.%1,020

QuestionlD:264330157709
Option11D:264330618198
Option21D:264330618197
Option31D:264330618196
Option41D:264330618195

Status:Answered
ChosenOption: 2

\

- ——— |
Q.29TheLCMoftwonumbersis660andtheirHCFis5.Ifoneofthenumbersis55,findthe other.

Ans  X1.275

X212
X3.110

4. 60

QuestionlD:264330102312
Option11D:264330401714
Option21D:264330401713
Option3ID:264330401716
Option41D:264330401715

Status:Answered
ChosenOption: 4




Q.30Somemedicineinliquidformispreparedinahemisphericalcontainerofdiameter36 cm.
When the container is full of medicine, the medicine is transferred to small
cylindricalbottlesofdiameter6cmandheightécm.Howmanybottlesarerequiredto empty

the container?
Ans  X1.76

&2.72
X3.70
X4.75

QuestionlD:264330145118
Option1ID:264330568730
Option21D:264330568728
Option31D:264330568727
Option41D:264330568729

Status:Answered
ChosenOption: 2

Q.31Tomcandoapieceofworkin7days,whereasJaycandothesameworkinl4days. How long
will they take to finish the work if both work together?

Ans 2
X1 5— days

3

2
+2. 4= days

3

x3 72 d

- 73 days

_ 2
Xa. 2§ days

QuestionlD:264330102373
Option11D:264330401957
Option21D:264330401958
Option31D:264330401960
Option41D:264330401959

Status:Answered
ChosenOption: 2

\

Q.32Twotrainsoflengths200mand250marerunningonparallelrailtracksatspeedsof
68km/hand50km/h,respectively.Inhowmuchtime(inseconds)willtheycrosseach other if

they are running in the same direction?
Ans  #¥1.90
X2.85
<3.80
X4.75

QuestionID:26433082986
Option11D:264330325780
Option21D:264330325779
Option31D:264330325778
Option41D:264330325777

Status:Answered
ChosenOption: 1




Q.33Travellingadistanceof1000km,atrainsloweddownduetorepairsofthetracks.lts average
speed for the trip reduced by 75 km/h and the time of travel increased by 3 hours. The
original duration of the travel is:

Ans 1.6 hours
¥ 2. Shours
& 3.5.5hours
&5 4. 6.5hours

QuestionlD:264330104389
Option11D:264330409859
Option21D:264330409858
Option31D:264330409860
Option41D:264330409857

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

Q.347sin2A+3cos?A=4 thenfindcotA:

Ans 1 vrg
X2 +\[2

3. i

V2

_ 1

<4 ﬁ

QuestionlD:264330158421
Option11D:264330621043
Option21D:264330621045
Option31D:264330621046
Option41D:264330621044

Status:Answered
ChosenOption: 1

Q.35IfsecA-tanA=p,thenfindthevalueofsecA.

Ans 2 =
r 4 p_l
pz+1
o p*+1
~2. )
- p?+1

p
p?+1

Y & Zp

QuestionlD:264330157747
Option11D:264330618350
Option21D:264330618349
Option3ID:264330618348
Option41D:264330618347

Status:Answered
ChosenOption: 4




Q.362(sin1°xsec89°)+3(cosll°xcosec79°)+5(tan21°xtan69°)="2
Ans  X1.11

K212
X3.20
4. 10

QuestionlD:264330145124
Option11D:264330568753
Option21D:264330568751
Option31D:264330568752
Option41D:264330568754

Status:Answered
ChosenOption: 4
-
Q.37Apersonhasthreeironbarswhoselengthsare20,30and40metres,respectively.He wants to

cut pieces of the same length from each of the three bars. What is the least number
of total pieces if he cuts without any wastage?

Ans  #X1.8
#<2.10
3.9
<411

QuestionlD:26433063434
Option11D:264330248391
Option21D:264330248389
Option31D:264330248388
Option41D:264330248390

Status:Answered
ChosenOption: 2

Q.38InaAPQR,2P:2Q:£R=3:4:8.Theshortestsideandthelongestsideofthetriangle,
respectively, are:

Ans  X1.PQ and PR

< 2. QrRandPR
#< 3. PQandQR
o 4. QRandPQ

QuestionlD:264330158284
Option11D:264330620496
Option21D:264330620498
Option3ID:264330620495
Option41D:264330620497

Status:Answered
ChosenOption: 4




180

Q39 In a triangle ABC, if 2B = 90°, 2C = 45° and AC = 4 cm, then the value of BC

A
" KL 2Zem
X2 4 cm
v3 2y2 em
X4 42 cm
QuestionID:264330157741
Option11D:264330618326
Option21D:264330618325
Option31D:264330618324
Option41D:264330618323
Status:Answered
ChosenOption: 1
Q.40 Study the given pie-chart and answer the question that follows.
The pie-chart shows the number of boys studying in play group of various schools
(A.B,C).
Total number of boys = 2000
What is the average number of boys studying in schools A and C?
Ans  X1.740
X2.920
X3.560
«#4. 680

QuestionlD:264330158278
Option11D:264330620472
Option21D:264330620471
Option3ID:264330620474
Option41D:264330620473

Status:Answered
ChosenOption: 4




Q.41In an office, 75 employees can finish a project in 60 days.After few days, 15
employeesleftthejobandtheprojectwascompletedin65days.Afterhowmanydays did the
15 employees leave?

Ans  #1.50
<245
X3.30
4. 40

QuestionlD:264330118107
Option11D:264330464245
Option21D:264330464244
Option31D:264330464246
Option41D:264330464243

Status:Answered
ChosenOption: 4

Q.42Rameshborrowed¥15,000atacertainrateofsimpleinterestfromabank.Herepaid (the
principal but not interest) ¥6,000 after 5 years, and after 5 more years he paid
¥18,600andsettledhisaccount.Findtherateofsimpleinterestperannum.

Ans X 1.12%

X2.10%

3. 8%
X4. 6%

QuestionlD:264330169924
Option1lD:264330666374
Option21D:264330666373
Option31D:264330666372
Option41D:264330666371

NotAttemptedand

Status: MarkedForReview

ChosenOption:--
- "
Q.43LetABC,PQRbetwocongruenttrianglessuchthatzA=2P=90°.IfBC=17cm,PR= 8 cm, find
AB (in cm).
Ans X112
¥2.15
X3.14

~<4.9

QuestionID:264330157743
Option11D:264330618332
Option21D:264330618334
Option3ID:264330618333
Option41D:264330618331

Status:Answered
ChosenOption: 2




Q.44Study the pie-chart given below, and answer the question that follows.
Percentage-wisebreakupofstudentsintermsofspecialisationinBTech

TOTAL NUMBER OF STUDENTS = 6700

T2

WhatisthetotalnumberofstudentshavingspecialisationinCSE,ECEandCIVIL?
Ans  «#1.2680
#$2. 2840
7<3. 2860
4. 2480

QuestionlD:264330165433
Option11D:264330648813
Option21D:264330648814
Option31D:264330648812
Option41D:264330648811

Status:Answered
ChosenOption: 1

Q.45TheLCMandHCFoftwonumbersarel105and5.IftheLCMis17timesthefirst number, then
find the two numbers.

Ans  «”1.65and85
2.55and 85

#$3.65and 75
4. 60 and 80

Questionl|D:26433065039
Option11D:264330254748
Option21D:264330254750
Option3ID:264330254749
Option41D:264330254751

Status:Answered
ChosenOption: 1




Q.46Akshita and Raina are typing a book, but have only one laptop to work upon. They
decidedthattheywillworkonalternatebasissuchthatAkshitaworksforthefirstday,
Rainaworksforthesecondday,Akshitaforthethirddayandsoon.Akshitaalonecan finish
the typing work in 16 days, while Raina will take 24 days if she works alone on

theentirebook.Howmanydayswilltheytaketofinishthetypingworkiftheyworkon alternate
basis?

Ans  X1.15
52.18

3. 19
X4.17

QuestionID:26433082512
Option11D:264330323883
Option21D:264330323882
Option31D:264330323884
Option41D:264330323881

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

Q.47Atraincoversadistanceof540kmbetweentwostationsin240minutes.lttravelsata
speedof90km/htoanotherstationin5hours.Whatistheaveragespeedofthetrain (in km/h)?

Ans  X1.112
2. 110
X3.100
/54.120

QuestionlD:264330106345
Option11D:264330417681
Option21D:264330417684
Option3ID:264330417682
Option41D:264330417683

Status:Answered
ChosenOption: 2

Q48  The heights of two cones are in the ratio 7:5 and their diameters are in the ratio
10:21. What is the ratio of their volumes? (Where = ?)
Ans X 1. 26:47
X 2 14:19
3. 20:63
X4 17:21

QuestionlD:264330104376
Option11D:264330409808
Option21D:264330409807
Option31D:264330409806
Option41D:264330409805

Status:Answered
ChosenOption: 3




Q.49Whatisthedifferencebetweenasinglediscountof35%on¥700andtwosuccessive
discountsofl18%and12%onthesameamount(correcttotwoplacesofdecimals)?

Ans  X1.%51.20
¥2.350.12
X3.352.10
#K4.%249.80

QuestionlD:264330165523
Option1lD:264330649171
Option21D:264330649173
Option31D:264330649172
Option4lD:264330649174

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

Q.50Study the given pie-chart and answer the question that follows.
Thepie-chartshowsthesaleofdifferentfruitsinashopinaday.

W Banana

" Grapes

¥ Apple

© Orange

¥ Others

Ifatotalof1200kgoffruitsweresoldinaday,calculatetheamountofbananassold (in kg).
Ans #1360
2. 290
<3.330
4. 260

QuestionlD:264330157737
Option11D:264330618310
Option21D:264330618308
Option31D:264330618309
Option41D:264330618307

Status:Answered
ChosenOption: 1

Section:EnglishComprehension




SelectthemostappropriateANTONYMofthegivenword.

Transparent
Ans 5 1. Crossover
&< 2. Linger
" 3. Opaque
< 4. Oppress

QuestionlD:264330164277
Option11D:264330644333
Option21D:264330644332
Option31D:264330644334
Option41D:264330644331

Status:Answered
ChosenOption: 3

Selectthemostappropriatemeaningoftheunderlinedidiom.
Theofficemanagementwasindirestraitsafterthefinancialcrash.

Ans & 1.To be extremely happy

" 2. Inaverybadsituation
#% 3. Beingdirectorfair
& 4. Towalkonalreadytroddenpaths

QuestionlD:264330120620
Option1lD:264330472721
Option21D:264330472719
Option31D:264330472720
Option4lD:264330472722

Status:Answered
ChosenOption: 2

- -
SelecttheINCORRECTLYspeltword. Ans
#51. Puzzled

< 2. Nasal
" 3. Councel
25 4. Embezzlement

Question|D:26433089104
Option11D:264330349934
Option21D:264330349935
Option3ID:264330349936
Option41D:264330349933

Status:Answered
ChosenOption: 3




Q.4Selecttheoptionthatcanbeusedasaone-wordsubstituteforthegivengroupof words.
Lastingforaveryshorttime
Ans 1. Eternal
" 2. Ephemeral
/< 3. Blasphemy
25 4. Chronology

QuestionlD:26433091809
Option11D:264330360575
Option21D:264330360576
Option31D:264330360573
Option41D:264330360574

Status:Answered
ChosenOption: 2

\

Q.5Selectthemostappropriateidiomthatcansubstitutetheunderlinedsegmentinthe given
sentence.
Doyoubelievethatyouhaveapossibilityofgettingthatjob?

Ans  #X1. spill the beans

#< 2. snowjob
«" 3. standachance

&5 4. shootthebreeze

QuestionlD:264330117475
Option11D:264330461931
Option2ID:264330461932
Option31D:264330461930
Option41D:264330461929

Status:Answered
ChosenOption: 3

Q.6Selectthemostappropriatesynonymofthegivenword.

Aggravate
Ans  «*1.Annoy
/5 2. Mitigate
#< 3. Enhance
< 4. Satisfy

QuestionID:264330163332
Option11D:264330640630
Option21D:264330640628
Option3ID:264330640629
Option41D:264330640627

Status:Answered
ChosenOption: 3




Q.7Choosetheidiomthatcanbestsubstitutetheunderlinedpartofthegivensentence.

Shelleyignoredherfather’swishofstudyingartsandinsteadtookadmissionin commerce.
Ans 1. Blew over

&5 2. Bigfish
¥ 3. Biddefianceto

#< 4. Beyondthepale

Question|D:26433094748
Option11D:264330371827
Option21D:264330371825
Option31D:264330371828
Option41D:264330371826

Status:Answered
ChosenOption: 3

- |
Q.8Selectthemostappropriatemeaningofthegivenidiom.

Get your act together
Ans  X1.Toruinone’splans
¥ 2. Toorganiseyourselfsothatyoucandosomethingproperly
#% 3. Togettheconversationgoing

#< 4. Tounderstandsomethingcomplicated

QuestionlD:264330163401
Option1ID:264330640883
Option21D:264330640885
Option31D:264330640886
Option41D:264330640884

Status:Answered
ChosenOption: 2

\ J

Q.9ldentifyfromthegivenoptionsthewordmostsimilarinmeaningtotheunderlined word
according to its meaning in the following sentence.
Heisapersonwhoholdsoldfashionedopinions.

Ans  +#1. obsolete
#5 2. ancient

< 3. antique

25 4. seniorcitizen

QuestionlD:264330101442
Option11D:264330398279
Option21D:264330398277
Option31D:264330398278
Option41D:264330398280

Status:Answered
ChosenOption: 1




Q.10Selectthemostappropriateoptionthatcansubstitutetheunderlinedwordsinthe given
sentence.

Kiran’steacherwasdoubtfulonhersuccess.
Ans 1. doubtful beyond
#< 2. doubtfulin
< 3. doubtfuloff
¥ 4. doubtfulof

QuestionlD:26433099936
Option11D:264330392319
Option21D:264330392318
Option31D:264330392320
Option41D:264330392317

Status:Answered
ChosenOption: 4

\ J

- -
Q.11SelectthecorrectspellingfortheINCORRECTLYspeltwordinthegivensentence.

TheEustachiantubeandvestubularcomplexinthemiddleandinnerear,respectively, have
an important role to play.

Ans  «#1. vestibular
#5 2. midle
5 3. respictevely
& 4. importent

Question|D:26433090499
Option11D:264330355445
Option21D:264330355446
Option3ID:264330355447
Option41D:264330355448

Status:Answered
ChosenOption: 1

\

-
Q.12Selectthemostappropriateidiomtofillintheblank.

Thereareotherswaitingtograbanopportunity;ifyoudon’tactfast,youaregoingto

Ans X 1.beinthesameboat
25 2. afull boat
< 3. pushtheboatout
¥ 4. misstheboat

QuestionID:264330163335
Option11D:264330640639
Option21D:264330640642
Option31D:264330640640
Option41D:264330640641

Status:Answered
ChosenOption: 4




Q.13Thefollowingsentencehasbeensplitintofoursegments.ldentifythesegmentthat contains
a grammatical error.
Mr.Khannaandfamily/havevisit/Manaliduring/thesummervacation.

Ans  «#1.have visit
25 2. Mr.Khannaandfamily
< 3. thesummervacation.

#5 4. Manaliduring

QuestionlD:26433059759
Option11D:264330233869
Option21D:264330233868
Option31D:264330233871
Option41D:264330233870

Status:Answered
ChosenOption: 1

\

Q.14Selectthemostappropriateidiomforthegivensituation.

Hestartedwithanonlinecompanyandbecameamillionaire.Then,hesolditand
investedinthesharemarketandearnedmoremoney.Now,hehasinvestedinthe
transportation industry and is generating huge wealth. What does he have?

Ans X 1.Asgenuineasathree-dollarbill
" 2. Midastouch
&5 3. Ruleofthumb
< 4. Stickyfingers

Question|D:26433093038
Option11D:264330365406
Option21D:264330365407
Option31D:264330365408
Option41D:264330365405

Status:Answered
ChosenOption: 2

- ______________________________________-——

Q.15Thefollowingsentencehasbeendividedintoparts.Oneofthemmaycontainanerror. Select
the part that contains the error from the given options. If you don’t find any error,
mark ‘No error’ as your answer.

Therewasnootherbook/intheEnglishlanguage/whichisasinterestingasthisone.

Ans  «*1.Therewasnootherbook
#< 2. intheEnglishlanguage
< 3. Noerror

5 4. whichisasinterestingasthisone

QuestionID:264330120599
Option11D:264330472635
Option21D:264330472636
Option3ID:264330472638
Option41D:264330472637

Status:Answered
ChosenOption: 1




Q.16Selecttheoptionthatcanbeusedasaone-wordsubstituteforthegivengroupof words.
Veryattractiveandeasytofeellovefor

Ans 1. Flamboyant

¥ 2. Adorable

/< 3. Mysterious

&5 4. Laudable

QuestionlD:26433088194
Option11D:264330346369
Option21D:264330346371
Option31D:264330346372
Option41D:264330346370

Status:Answered
ChosenOption: 2

Q.17Selectthemostappropriatemeaningoftheunderlinedword. He
uses one of the finest ingredients in his cooking.

Ans 1. Components
#5 2. Mixtures
25 3. Culinary

& 4. Preparations

QuestionlD:264330121040
Option11D:264330474367
Option21D:264330474368
Option31D:264330474370
Option41D:264330474369

Status:Answered
ChosenOption: 1

Q.18SelectthemostappropriateANTONYMofthegivenword.

Abhor
Ans 1. Occupy

< 2. Despise
#< 3. Danger
" 4. Love

QuestionID:264330163376
Option11D:264330640794
Option21D:264330640791
Option31D:264330640792
Option41D:264330640793

Status:Answered
ChosenOption: 4




Q.19Selecttheoptionthatcanbeusedasaone-wordsubstitutefortheunderlinedwords.
Hewasnotwillingtoattendthetechnicalsessionoftheconference.
Ans 1. dejecting
& 2. reluctant
< 3. curious

#5 4. comprehensive

QuestionlD:26433099922
Option11D:264330392269
Option21D:264330392270
Option31D:264330392272
Option41D:264330392271

Status:Answered
ChosenOption: 2

Q.20Selecttheoptionthatcanbeusedasaone-wordsubstituteforthegivengroupof words.
Adiseaseprevalentinacommunityoraspecificregionataspecifictime,affectinga large
area.

Ans  X1. Pandemic
# 2. Eradicate
4" 3. Epidemic
< 4. Endemic

QuestionlD:26433088805
Option11D:264330348774
Option21D:264330348776
Option31D:264330348775
Option41D:264330348773

Status:Answered
ChosenOption: 3

-
Q.21SelectthemostappropriateANTONYMofthegivenword.

Apex
Ans  X1. Pinnacle
" 2. Bottom
25 3. Farthest
& 4. Watchful

QuestionlD:264330163397
Option11D:264330640867
Option21D:264330640869
Option31D:264330640868
Option41D:264330640870

Status:Answered
ChosenOption: 2




Q.22Selectthemostappropriatemeaningoftheunderlinedword. Ram
was abandoned by his parents at a very early age.

Ans  #51. Loved
o 2. Left
&5 3. Hated
< 4. Disgraced

QuestionlD:264330121035
Option11D:264330474349
Option21D:264330474347
Option31D:264330474348
Option41D:264330474350

Status:Answered
ChosenOption: 2

- -
Q.23Selectthemostappropriatemeaningofthegivenidiom.

Partandparcel
Ans  X1.Passingblametosomeoneelse

#5 2. Agreementwithsomeone
/< 3. Apaymentsystemforparcels

4" 4. Basicoressentialelement

QuestionlD:26433091884
Option11D:264330360874
Option21D:264330360875
Option31D:264330360873
Option41D:264330360876

Status:Answered
ChosenOption: 4

Q.24Choose the most appropriate meaning of the underlined phrase.
Whatweneedisskilledandenergeticplanningandelbowgrease.

Ans X1.Thegreasethatisearnedthroughlabour
#5 2. Hardworkthatoneputsintocleaningone’selbow
< 3. Hardworkthatoneputsintoremovinggrease

" 4. Hardworkthatoneputsintodoingsomething

QuestionlD:264330137457
Option11D:264330538453
Option21D:264330538452
Option3ID:264330538451
Option41D:264330538454

Status:Answered
ChosenOption: 4




Q.25Selectthemostappropriatesynonymofthegivenword.
Robe
Ans 1. Robbery
< 2. Mishap
& 3. Success
" 4. Cloak

QuestionlD:264330163358
Option11D:264330640723
Option21D:264330640725
Option31D:264330640726
Option4lD:264330640724

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

\ J

Q.26Selectthemostappropriatemeaningofthegivenidiom. A
snowball effect

Ans  «#1.Anacceleratinggrowthofmagnitude
2 2. Tricksomeone completely
&5 3. Coldanduncomfortable

& 4. Slowmovement

QuestionlD:264330117376
Option1lD:264330461548
Option21D:264330461547
Option31D:264330461545
Option41D:264330461546

NotAttemptedand

Status: MarkedForReview

ChosenOption:--

\

-

Q.27Somewordsinthefollowingsentencehavebeenunderlinedandgivenasoptions. Select the
option that contains a spelling error.
Roshnidoesafabulouousjobathercompanyandhasbeenofferedapromotion.

Ans  «#1. fabulouous

< 2. company
#< 3. promotion
< 4. offered

QuestionlD:264330121268
Option11D:264330475275
Option21D:264330475276
Option3ID:264330475278
Option41D:264330475277

Status:Answered
ChosenOption: 1




Q.28Thefollowingsentencehasbeensplitintofoursegments.ldentifythesegmentthat contains
a grammatical error.

Ihavenever/cometo/suchakindperson/likemyfriend.
Ans X 1.suchakindperson

& 2. likemyfriend
" 3. cometo

< 4. Inavenever

Question|D:26433070491
Option11D:264330276442
Option21D:264330276443
Option31D:264330276441
Option41D:264330276440

Status:Answered
ChosenOption: 3

\

Q.29Selectthemostappropriateoptionthatcansubstitutetheunderlinedwordinthe given
sentence.

TheBoardofFilmAnalystsvituperatedthenovicelndonesianfilm-makerand cancelled its
nomination for the ‘Golden Globe Award’.

Ans  #<1.lamentedtheuntimelydeathof
¥ 2. censuredwithharshandabusivelanguage
/< 3. dealtinadelicateandpolitemanner

#5 4. recognisedandpraisedthetalentof

QuestionID:26433070504
Option11D:264330276493
Option21D:264330276494
Option3ID:264330276495
Option4lD:264330276492

Status:Answered
ChosenOption: 2

\

Q.30Selectthemostappropriateidiomtosubstitutetheunderlined segmentinthegiven sentence.
MyfinalroundofSpellBeeCompetitioniscomingupandtowinthisevent,Ineedto studyhard
from today.

Ans  X1. burn the books

" 2. hitthebooks
< 3. cuttothechase

< 4. pourmyheartout

QuestionID:264330135908
Option11D:264330532487
Option21D:264330532488
Option3ID:264330532489
Option41D:264330532490

Status:Answered
ChosenOption: 2




Q.31Selecttheoptionthatcanbeusedasaone-wordsubstituteforthegivengroupof words.
Tohaveastrongemotionaleffecton.
Ans X1 Toforfeit
& 2. Tooverwhelm
& 3. Tosmother

£ 4. Toyield

QuestionlD:26433088971
Option11D:264330349424
Option21D:264330349423
Option31D:264330349421
Option41D:264330349422

Status:Answered
ChosenOption: 2

-
Q.32SelecttheINCORRECTLYspeltword.An

s +”1. Ocassion
#5 2. Agreeable
< 3. Formulae

5 4. Waitress

QuestionlD:264330163411
Option11D:264330640924
Option21D:264330640925
Option31D:264330640926
Option41D:264330640923

Status:Answered
ChosenOption: 2

- _____________________________________________________________________________________|

Q.33Selectthemostappropriateoptionthatcansubstitutetheunderlinedsegmentinthe
givensentence.lfthereisnoneedtosubstituteit,select‘Nosubstitutionrequired’. Harry is
the one sitting on the corner.

Ans X1.Nosubstitutionrequired
#< 2. upon
< 3. onto
& 4. in

QuestionID:26433070769
Option11D:264330277535
Option21D:264330277533
Option31D:264330277534
Option41D:264330277532

Status:Answered
ChosenOption: 4




Q.34SelecttheINCORRECTLYspeltwordfromtheunderlinedwordsinthefollowing sentence.
Communitiesmustbuildtheirresileince,includingadoptingappropriatetechnologies
while making the most of traditional knowledge, and diversifying their livelihoods to
cope with current and future climate stress.

Ans X1 livelihoods
2. diversifying
5 3. appropriate
" 4. resileince

QuestionlD:264330141159
Option11D:264330552982
Option21D:264330552981
Option31D:264330552980
Option41D:264330552979

Status:Answered
ChosenOption: 4

\ J

Q.35Thefollowingsentencehasbeensplitintofoursegments.ldentifythesegmentthat contains
a grammatical error.

Theuniversityhasputtingoff/thesemesterexamination/forthesecondtimenow/ due to
technical issues.

Ans X 1.thesemesterexamination
#5 2. duetotechnicalissues
/< 3. forthesecondtimenow

¥ 4. Theuniversityhasputtingoff

QuestionlD:264330145278
Option11D:264330569368
Option21D:264330569370
Option31D:264330569369
Option4lD:264330569367

Status:Answered
ChosenOption: 4

- ______________________________________-——
Q.36Selectthecorrectoptiontosubstitutetheunderlinedsegmentinthegivensentence.If no
substitution is required, select ‘No substitution’.

Hersmileissimilartohermother.
Ans 1. No substitution

4" 2. hermother’s
#< 3. mother
75 4. themother

QuestionID:26433090821
Option11D:264330356708
Option21D:264330356705
Option31D:264330356707
Option41D:264330356706

Status:Answered
ChosenOption: 2




Q.37Selectthemostappropriate ANTONYMofthegivenword.
Inquisitive
Ans 1. Careful
< 2. Dull

¥ 3. Uninterested
#5 4. Indolent

QuestionlD:264330120606
Option11D:264330472666
Option21D:264330472664
Option31D:264330472663
Option41D:264330472665

Status:Answered
ChosenOption: 3

- ————————————

Q.38Partsofthefollowingsentencehavebeengivenasoptions.Oneofthemmaycontain
anerror.Selectthepartthatcontainstheerrorfromthegivenoptions.lfyoudon’tfind any
error, mark ‘No error’ as your answer.
Anantwastellingastoryabouthismostrecentexploitswhenatreebranchbreakthe living
room window.

Ans X 1.abouthismostrecentexploits
" 2. whenatreebranchbreakthelivingroomwindow
#< 3. Anantwastellingastory
< 4. Noerror

Question|D:26433092136
Option11D:264330361858
Option21D:264330361859
Option3ID:264330361857
Option41D:264330361860

Status:Answered
ChosenOption: 2

\ J

- -
Q.39Selecttheoptionthatcanbeusedasaone-wordsubstituteforthegivengroupof words.

Ananimalorapersonthateatsalltypesoffood,especiallyplantsandmeat Ans
7<1. Vegetarian

< 2. Herbivore
" 3. Omnivore
5 4. Carnivore

QuestionID:26433088198
Option11D:264330346385
Option21D:264330346388
Option3ID:264330346386
Option41D:264330346387

Status:Answered
ChosenOption: 3




Q.40SelectthemostappropriateANTONYMofthegivenword.
Bombastic
Ans X1 Essential
#< 2. Sarcastic
" 3. Plain
#5 4. Rhythmic

QuestionlD:264330163399
Option11D:264330640877
Option21D:264330640876
Option31D:264330640875
Option41D:264330640878

Status:Answered
ChosenOption: 3

\

Y|
Comprehension:

Inthefollowingpassagesomewordshavebeendeleted.Readthepassagecarefullyand select the
most appropriate option to fill in each blank.

Among the largest species of cats in the world, tigers are powerful hunters with (1)
teeth, strong jaws and agile bodies. They range
acrossAsia from Russia all the way to Sumatra and mainland Southeast Asia. Researchers
still have much to learn (2) these beautiful, endangered (3)
Thereiscurrentlyonerecognizedspeciesoftiger,Pantheratigris. Scientistshavefurther (4)
thetigerintoninesubspecies:theextinctBali,CaspianandJavansubspecies,and the
living Malayan, Sumatran, South China, Indochinese, Bengal andAmur (or Siberian)
subspecies. Of these six subspecies,AZA-accredited zoos currently manage three:Amur,
Malayan,andSumatran.TheSmithsonian'sNationalZooandConservationBiologylInstitute is
home to Sumatran and Amur tigers; Sumatran tigers are (5) as Critically
EndangeredonthelnternationalUnionforConservationofNature'sRedList,andAmurtigers have
been classified as Endangered.

SubQuestionNo:41
Q.41Selectthemostappropriateoptiontofillblanknumber1.Ans
2<1. Long

X 2. small
75 3. Blunt

" 4. Sharp

QuestionlD:264330163389
Option11D:264330640837
Option21D:264330640835
Option31D:264330640836
Option41D:264330640838

Status:Answered
ChosenOption: 4




Comprehension:

Inthefollowingpassagesomewordshavebeendeleted.Readthepassagecarefullyand select the
most appropriate option to fill in each blank.

Among the largest species of cats in the world, tigers are powerful hunters with (1)
teeth, strong jaws and agile bodies. They range
acrossAsia from Russia all the way to Sumatra and mainland Southeast Asia. Researchers
still have much to learn (2) these beautiful, endangered (3) .
Thereiscurrentlyonerecognizedspeciesoftiger,Pantheratigris. Scientistshavefurther (4)
thetigerintoninesubspecies:theextinctBali,CaspianandJavansubspecies,and the
living Malayan, Sumatran, South China, Indochinese, Bengal andAmur (or Siberian)
subspecies. Of these six subspecies,AZA-accredited zoos currently manage three:Amur,
Malayan,andSumatran.TheSmithsonian'sNationalZooandConservationBiologylnstitute is
home to Sumatran and Amur tigers; Sumatran tigers are (5) as Critically
EndangeredonthelnternationalUnionforConservationofNature'sRedList,andAmurtigers have
been classified as Endangered.

SubQuestionNo:42
Q.42Selectthemostappropriateoptiontofillblanknumber2.Ans
1. With

£ 2. Into
4" 3. About

& 4. Along

QuestionlD:264330163390
Option11D:264330640839
Option21D:264330640842
Option31D:264330640841
Option41D:264330640840

Status:Answered
ChosenOption: 3

\

- ————————
Comprehension:

Inthefollowingpassagesomewordshavebeendeleted.Readthepassagecarefullyand select the
most appropriate option to fill in each blank.

Among the largest species of cats in the world, tigers are powerful hunters with (1)
teeth, strong jaws and agile bodies. They range
acrossAsia from Russia all the way to Sumatra and mainland Southeast Asia. Researchers
still have much to learn (2) these beautiful, endangered (3)
Thereiscurrentlyonerecognizedspeciesoftiger,Pantheratigris. Scientistshavefurther(4)
thetigerintoninesubspecies:theextinctBali,CaspianandJavansubspecies,and the
living Malayan, Sumatran, South China, Indochinese, Bengal andAmur (or Siberian)
subspecies. Of these six subspecies,AZA-accredited zoos currently manage three:Amur,
Malayan,andSumatran.TheSmithsonian'sNationalZooandConservationBiologylInstitute is
home to Sumatran and Amur tigers; Sumatran tigers are (5) as Critically
EndangeredonthelnternationalUnionforConservationofNature'sRedList,andAmurtigers have
been classified as Endangered.

SubQuestionNo0:43
Q.43Selectthemostappropriateoptiontofillblanknumber3.Ans
1. Rabbits

" 2. Cats
#< 3. Elephants
< 4. Dogs

QuestionlD:264330163391
Option11D:264330640845
Option21D:264330640843
Option31D:264330640846
Option41D:264330640844

Status:Answered
ChosenOption: 2




Comprehension:

Inthefollowingpassagesomewordshavebeendeleted.Readthepassagecarefullyand select the
most appropriate option to fill in each blank.

Among the largest species of cats in the world, tigers are powerful hunters with (1)
teeth, strong jaws and agile bodies. They range
acrossAsia from Russia all the way to Sumatra and mainland Southeast Asia. Researchers
still have much to learn (2) these beautiful, endangered (3) .
Thereiscurrentlyonerecognizedspeciesoftiger,Pantheratigris. Scientistshavefurther(4)
thetigerintoninesubspecies:theextinctBali,CaspianandJavansubspecies,and the
living Malayan, Sumatran, South China, Indochinese, Bengal andAmur (or Siberian)
subspecies. Of these six subspecies,AZA-accredited zoos currently manage three:Amur,
Malayan,andSumatran.TheSmithsonian'sNationalZooandConservationBiologylInstitute is
home to Sumatran and Amur tigers; Sumatran tigers are (5) as Critically
EndangeredonthelnternationalUnionforConservationofNature'sRedList,andAmurtigers have
been classified as Endangered.

SubQuestionNo:44
Q.44Selectthemostappropriateoptiontofillblanknumber4.Ans
1. Declared

X 2. Restricted
#5 3. Generalized
" 4. Classified

QuestionlD:264330163392
Option11D:264330640849
Option21D:264330640848
Option31D:264330640850
Option41D:264330640847

Status:Answered
ChosenOption: 4

\

- ————————
Comprehension:

Inthefollowingpassagesomewordshavebeendeleted.Readthepassagecarefullyand select the
most appropriate option to fill in each blank.

Among the largest species of cats in the world, tigers are powerful hunters with (1)
teeth, strong jaws and agile bodies. They range
acrossAsia from Russia all the way to Sumatra and mainland Southeast Asia. Researchers
still have much to learn (2) these beautiful, endangered (3)
Thereiscurrentlyonerecognizedspeciesoftiger,Pantheratigris. Scientistshavefurther (4)
thetigerintoninesubspecies:theextinctBali,CaspianandJavansubspecies,and the
living Malayan, Sumatran, South China, Indochinese, Bengal andAmur (or Siberian)
subspecies. Of these six subspecies,AZA-accredited zoos currently manage three:Amur,
Malayan,andSumatran.TheSmithsonian'sNationalZooandConservationBiologylInstitute is
home to Sumatran and Amur tigers; Sumatran tigers are (5) as Critically
EndangeredonthelnternationalUnionforConservationofNature'sRedList,andAmurtigers have
been classified as Endangered.

SubQuestionNo:45
Q.45Selectthemostappropriateoptiontofillblanknumber5.Ans
#<1. Numerated

< 2. Detailed
#< 3. Recorded
" 4. Listed

QuestionID:264330163393
Option11D:264330640854
Option21D:264330640853
Option31D:264330640851
Option41D:264330640852

Status:Answered
ChosenOption: 4




Comprehension:
Readthegivenpassageandanswerthequestionsthatfollow.

What if globally designed products could radically change how we work, produce and
consume? Several examples across continents show the way we are producing and
consuminggoodscouldbeimprovedbyrelyingongloballyshareddigitalresources,suchas design,
knowledge and software.

Imagine a prosthetic hand designed by geographically dispersed communities of scientists,
designersandenthusiastsinacollaborativemannerviatheweb.Allknowledgeandsoftware
related to the hand is shared globally as a digital commons.

People from all over the world who are connected online and have access to local
manufacturing machines (from 3D printing and CNC machines to low-tech crafts and tools)
can,ideallywiththehelpofanexpert,manufactureacustomisedhand. Thisisthecaseofthe Open
Bionics project, which produces designs for robotic and bionic devices.

There are no patent costs to pay for. Less transportation of materials is needed, since a
considerablepartofthemanufacturingtakesplacelocally;maintenanceiseasier,products are
designed to last as long as possible, and costs are thus much lower.

SubQuestionNo:46
Q.46ldentifythemostsuitabletitleforthegivenpassage.Ans
#51. Knowledge Explosion

#5 2. CustomisedHand
/< 3. SharedInformation

" 4. DigitalGlobalisation

QuestionlD:264330136482
Option11D:264330534678
Option21D:264330534676
Option3ID:264330534675
Option41D:264330534677

Status:Answered
ChosenOption: 3

- ————————
Comprehension:

Readthegivenpassageandanswerthequestionsthatfollow.

What if globally designed products could radically change how we work, produce and
consume? Several examples across continents show the way we are producing and
consuminggoodscouldbeimprovedbyrelyingongloballyshareddigitalresources,suchas design,
knowledge and software.

Imagine a prosthetic hand designed by geographically dispersed communities of scientists,
designersandenthusiastsinacollaborativemannerviatheweb.Allknowledgeandsoftware
related to the hand is shared globally as a digital commons.

People from all over the world who are connected online and have access to local
manufacturing machines (from 3D printing and CNC machines to low-tech crafts and tools)
can,ideallywiththehelpofanexpert,manufactureacustomisedhand. Thisisthecaseofthe Open
Bionics project, which produces designs for robotic and bionic devices.

There are no patent costs to pay for. Less transportation of materials is needed, since a
considerablepartofthemanufacturingtakesplacelocally;maintenanceiseasier,products are
designed to last as long as possible, and costs are thus much lower.

SubQuestionNo:47
Q.47Whatisthetermusedinthepassageforgloballyshareddigitalthings?Ans
1. Digital commons
#5 2. Digitalinformation
< 3. Digitalresources

#5 4. Digitalworld

QuestionlD:264330136479
Option11D:264330534666
Option21D:264330534664
Option31D:264330534663
Option41D:264330534665

Status:Answered
ChosenOption: 3




Comprehension:
Readthegivenpassageandanswerthequestionsthatfollow.

What if globally designed products could radically change how we work, produce and
consume? Several examples across continents show the way we are producing and
consuminggoodscouldbeimprovedbyrelyingongloballyshareddigitalresources,suchas design,
knowledge and software.

Imagine a prosthetic hand designed by geographically dispersed communities of scientists,
designersandenthusiastsinacollaborativemannerviatheweb.Allknowledgeandsoftware
related to the hand is shared globally as a digital commons.

People from all over the world who are connected online and have access to local
manufacturing machines (from 3D printing and CNC machines to low-tech crafts and tools)
can,ideallywiththehelpofanexpert,manufactureacustomisedhand. Thisisthecaseofthe Open
Bionics project, which produces designs for robotic and bionic devices.

There are no patent costs to pay for. Less transportation of materials is needed, since a
considerablepartofthemanufacturingtakesplacelocally;maintenanceiseasier,products are
designed to last as long as possible, and costs are thus much lower.

SubQuestionNo:48
Q.48Whatisthetoneoftheauthor? Ans
+# 1. Speculative
X 2. Caustic
#5 3. Acerbic

#< 4. Belligerent

QuestionlD:264330136481
Option11D:264330534674
Option21D:264330534673
Option3ID:264330534671
Option41D:264330534672

Status:Answered
ChosenOption: 1

-
Comprehension:

Readthegivenpassageandanswerthequestionsthatfollow.

What if globally designed products could radically change how we work, produce and
consume? Several examples across continents show the way we are producing and
consuminggoodscouldbeimprovedbyrelyingongloballyshareddigitalresources,suchas design,
knowledge and software.

Imagine a prosthetic hand designed by geographically dispersed communities of scientists,
designersandenthusiastsinacollaborativemannerviatheweb.Allknowledgeandsoftware
related to the hand is shared globally as a digital commons.

People from all over the world who are connected online and have access to local
manufacturing machines (from 3D printing and CNC machines to low-tech crafts and tools)
can,ideallywiththehelpofanexpert,manufactureacustomisedhand. Thisisthecaseofthe Open
Bionics project, which produces designs for robotic and bionic devices.

There are no patent costs to pay for. Less transportation of materials is needed, since a
considerablepartofthemanufacturingtakesplacelocally;maintenanceiseasier,products are
designed to last as long as possible, and costs are thus much lower.

SubQuestionNo:49
Q.49WhichofthefollowingisNOTagloballyshareddigitalresource? Ans
#<1. Knowledge

#5 2. Design
4" 3. Automobile
< 4. Software

QuestionlD:264330136478
Option11D:264330534659
Option21D:264330534660
Option3ID:264330534661
Option41D:264330534662

Status:Answered
ChosenOption: 3




Comprehension:
Readthegivenpassageandanswerthequestionsthatfollow.

What if globally designed products could radically change how we work, produce and
consume? Several examples across continents show the way we are producing and
consuminggoodscouldbeimprovedbyrelyingongloballyshareddigitalresources,suchas design,
knowledge and software.

Imagine a prosthetic hand designed by geographically dispersed communities of scientists,
designersandenthusiastsinacollaborativemannerviatheweb.Allknowledgeandsoftware
related to the hand is shared globally as a digital commons.

People from all over the world who are connected online and have access to local
manufacturing machines (from 3D printing and CNC machines to low-tech crafts and tools)
can,ideallywiththehelpofanexpert,manufactureacustomisedhand. Thisisthecaseofthe Open
Bionics project, which produces designs for robotic and bionic devices.

There are no patent costs to pay for. Less transportation of materials is needed, since a
considerablepartofthemanufacturingtakesplacelocally;maintenanceiseasier,products are
designed to last as long as possible, and costs are thus much lower.

SubQuestionNo:50
Q.50Selectthemostsuitablewordfromthepassagewhichmeans‘scattered’.Ans
#<1. Collaborative

< 2. Shared
#5 3. Customised

" 4. Dispersed

QuestionlD:264330136480
Option11D:264330534669
Option21D:264330534667
Option31D:264330534670
Option41D:264330534668

Status:Answered
ChosenOption: 4




